

# Rapid Response Fund (RRF)

		Section 1: Overview of response				
COLOMI	BIA	Aliviando Cargas III_Response to the Dabeiba Landslide				
	Summary	Presbyterian Church of Colombia				
	Implementation period	1 December 2020				
		28 February 2021				
		3 (months)				
	Geographical area	Municipality of Dabeiba, in 4 of its villages:				
		Dabeiba Vieja, Botón, Mohán and El				
		Cajón,er text.				
	Sectors of response	Shelter / NFIs ⊞ Protection/ ☐ Health psychosocial				
	Targeted beneficiaries (per sector)	Peasant families, women, men, boys and				
	(per sector)	girls, the elderly, ethnic minorities				
	Requested budget (USD)	60.000.00 (USD)				
	1	· · ·				
Is there :	an undated ACT Forum	No				

Is there an updated ACT Forum	No
EPRP?	

#### **Section 2: Narrative Summary**

### **Background**

As a result of the intense rainfall caused by the last 2 hurricanes (ETA and IOTA) that hit the Colombian Caribbean and the La Niña phenomenon from the Pacific Ocean: The rural area of the Antioqueño municipality of Dabeiba, in 4 of its villages: Dabeiba Vieja, Botón, Mohán and El Cajón, suffered a landslide of large proportions leaving more than 200 families without their homes, their belongings, their crops and their farmyard animals. On the morning of Sunday, November 15, DAPARD (Administrative Department of the System for the Prevention, Attention and Recovery of Disasters) reported that of the 16 people who were missing, eight were found alive "and they are in the five shelters that the municipality has set up for the affected people." Thus, the current tally of casualties of the torrential rains according to the Unified Command Post (PMU), is of 3 deceased and eight missing persons. Likewise, there are 497 affected people from 201 families, 20 injured, 67 homes destroyed and 104 damaged, 3 educational centers affected, as well as 5.5 kilometers of road affected.

#### **Humanitarian Needs**

As a result of the coordination meetings held in the field, the Humanitarian Task Force of the Presbyterian Church of Colombia has detected pronounced gaps in the care received so far.

- 1 Aspects related to accommodation in public schools in the urban area of the city and some days of meals for the affected families, hospital medical care for the injured have been addressed
- 2. You notice a lot of anguish and cases of depression, especially in older adults and young people.
- 3. As a consequence of the total loss of their belongings, crops, and livelihoods, a recovery of their work tools is required( and a safe, permanent and voluntary return to their plots. In addition, community-based psychosocial support work and guaranteed basic sanitation will be important.

# Capacity



- 1. The Presbyterian Church in Dabeiba has several years of experience in humanitarian response. And it has worked in coordination with ecumenical platforms such as DIPAZ in local humanitarian assistance to ex-combatants.
- 2. Dabeiba Viva Foundation (Presbyterian Church partner) has a team of volunteers trained to deal with emergencies by the Local Office of Risk Management. They handle Bio-security protocols and are committed to ACT Alliance protocols on quality and accountability. During the pandemic they have provided food security to more than 200 families.
- 3. We have two organizations from the ACT-Alliance Forum that have always worked with us: the LWF and DKH
- 4. We have carried out a needs assessment in the field, a basic census of the beneficiary population, we have provided food and protection in the shelters with our own resources and our staff.

D	r۸	pa	60	А	r۵	cn	_	nc	۵
Р	ſΟ	DU	se	a	re	SD	U	ns	е

Click here to enter text.

Does the proposed response honour ACT's commitment to Child Safeguarding? 

☐ No

Problems	Hundreds of families have lost their homes, belongings, crops and/or farmyard animals, and several of them have lost loved ones in the landslide that occurred early Saturday morning.
Target	200 Peasant families. We will make the disaggregation soon with the
beneficiaries	requested elements
Main activities	8 meetings of the field work team
	8 deliveries to 400 families of basic sanitation and hygiene kits
	6 days of psychosocial care for selected groups
	12 Days of Monitoring and post-monitoring of delivery
Specific	1. Facilitate Free Cash Resources to Help With Livelihoods
objective(s)/ Outputs	2. Raise the resilience of Families and contribute to the improvement of their mental health.
	3. Provide adequate means for the management of drinking water and food preparation
Overall objective / Outcome(s)	Relieve the burdens of 200 families who lost everything in the middle of the landslide, helping them to continue with their lives and improve their capacity for risk mitigation.

#### **Reporting Schedule**

Type of Report	Due date
Situation report	15 January 2021
Final narrative and financial report (60	28 April 2021
days after the ending date)	
Audit report (90 days after the ending	28 May 2021





|--|

#### Monitoring and evaluation

We appoint a monitoring and evaluation coordinator who will keep a detailed record of experiences and lessons learned before, during and after the project ends.

- 1. Cards with notes of experiences
- 2. interviews
- 3. phone calls
- 4. Final document

#### Section 3: ACT Alliance coordination

#### Coordination

- 1. The Presbyterian Church and the PAZOS Diaconia Foundation will administer the Funds and coordinate the implementation.
- 2. We will seek the support of FLM and DKH as needed and available.
- 3 The PAZOS foundation will present a detailed report of all humanitarian actions to the local GIFFM (Inter-agency group for attention to mixed migratory flows) and the Presbyterian Church will inform the interested UN agencies of its actions monthly.
- 4. The use of the ACT-Alliance brand will be present in each of the actions, events, press releases, reports, purchases, contracts, publications on social networks.

# Implementation arrangements

- 1. The Presbyterian Church of Colombia is committed to attending to the entire emergency caused by the terrible landslide that caused human and material losses.
- 2. The members of the Dabeiba Viva Foundation will contribute their human resources to emergency response.
- 3. The international agencies that are part of the ACT Colombia Forum will be informed of the processes of this Rapid Response fund.
- 4. The Memorandum of Understanding does not apply in this case.

# **Human resources and administration of funds**

- 1. We will proceed with the initially approved budget guide.
- 2. We have signed the ACT-Alliance Code of Conduct
- 3. We could attached our procedures for contracting, purchasing and bank transfers: All large payments will be made by bank transfers to vendors and contracted personnel. Purchases are made after passing several filters: Quotes, review, decision-making of the best offer and guarantees. All personnel have their contract and an instruction guide for field operation. The Diaconía Foundation has protocols for each case

#### **Communications**

- 1. Make the Aliviando Cargas III project visible as a fundamental humanitarian aid action for the peasant population in Dabeiba, Antioquia.
- 2. To sensitize people, organizations and decision makers to the importance of generating joint projects for the safe, permanent and voluntary relocation of the population affected by the landslide, as necessary.
- 3. Press releases





Life stories Infographics

4. The Lutheran World Federation has a communications officer who works for the ACT Forum and could help us spread information

	Section 4: B	Budget Summary			
		Type of	No. of	Unit Cost	Appeal Budget
		Unit	Units	local currency	local currency
DIREC	CT COSTS				
1	PROGRAM STAFF		Ī	1	
1.1.	Coordinador	mes	3	1,010,000	3,030,000
1.2.	3 Gestores locales	mes	3	2,100,000	6,300,000
1.3.	2 Profesionales atencion psico-social	mes	3	6,000,000	18,000,000
.4.					(
	TOTAL PROGRAM STAFF			-	27,330,000
2	PROGRAM ACTIVITIES				
2.1.	Livehoods				120,000,000
2.1.1.	Transferencias bonos-Cash	transferencia	200	600,000	120,000,000
.2.	Coodinattion meeting				1,400,000
2.2.1.	Reuniones de coordinacion	reunion	8	175,000	1,400,000
2.3.	Internal evaluation				8,800,000
2.3.1.	Reunion de evaluacion interna	reunion	8	1,100,000	8,800,000
2.4.	Wash				38,000,000
2.4.1.	kits de cocina	kits	200	120,000	24,000,000
2.4.2.	kits de aseo	kits	200	70,000	14,000,000
2.4.3.	H/N item 3				(
2.4.4.	H/N item 4				(
2.4.5.	H/N item 5				
2.5.	Logistic				750,000
2.5.1.	Entrega de cash	reunion	1	250,000	250,000
2.5.2.	Entrega kits de aseo	reunion	1	250,000	250,000
2.5.3.	Entrega kits de cocina	reunion	1	250,000	250,000
2.5.4.	P/Jornadas apoyo Psicosocial	jornada	6	150,000	900,000
2.5.5.	P/PS item 5				(
	TOTAL PROGRAM ACTIVITIES			-	168,950,000
3	PROGRAM IMPLEMENTATION				
3.1.	Comunication / visibility	unidad	1	2,450,000	2,450,000
3.2.	Monitoring & evaluation	unidad	1	3,500,000	3,500,000
3.3.	Audit	global	1	2,490,000	2,490,000
3.4.		9.0001	1	2, 130,000	2,450,000
3.5.			1		
	TOTAL PROGRAM IMPLEMENTATION			-	8,440,000





4	PROGRAM LOGISTICS				
Trans	sport (of relief materials)				
4.1.	Fuel	mes	3	600,000	1,800,000
4.2.	Ticket	mes	2	1,404,000	2,808,000
Ware	housing				
4.3.	Rental of warehouse				(
Hand	ling	1			
4.4.	Salaries / wages for Drivers				(
	TOTAL PROGRAM LOGISTICS			- -	4,608,000
	TOTAL DIRECT COST			<u>-</u>	209,328,000
	RECT COSTS: PERSONNEL, ADMINISTRA  Staff salaries	TION & SUPPORT			
e.g.	Salaries accountant	maa	2	0.41 000	2,523,000
	Salaries accountant	mes	3	841,000	2,525,000
	Office Operations				
	Office Utilities	mes	3	170,000	510,000
	translation	global	1	350,000	350,000
	Communications	3.0.0.0	· ·	,	,,,,,,
	Telephone and fax	mes	3	500,000	1,500,000
	<u>systematization</u>		-	, , , , , , , , , , , , , , , , , , , ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
	systematization	mes	3	500,000	1,500,000
			<u>'</u>	<u>,                                     </u>	
	banking expenses			3,152,295	3,152,295
	banking expenses banking expenses	global	1	3,132,293	
	banking expenses	global	1	3,132,293	0,102,200
			1	3,152,295	9,535,295
	banking expenses		1	3,152,295	
	banking expenses		1	3,152,295	9,535,295

# **ACTION**

The ACT Secretariat has approved the use of **US\$ 30,000 from** the Global Rapid Response Fund (GRRF20) and would be grateful to receive contributions to wholly or partially replenish this payment. Should there be an appeal for this emergency, the RRF payment will be considered as an advance.

# For further information please contact:

ACT Regional Representative – Latin America and the Caribbean, Carlos Rauda (<a href="mailto:cra@actalliance.org">cra@actalliance.org</a>)
Humanitarian Programme Officer LAC, Sonia Judith Hernandez (<a href="mailto:sonia.hernandez@actalliance.org">sonia.hernandez@actalliance.org</a>)

ACT website: <a href="http://www.actalliance.org">http://www.actalliance.org</a>

50-135-193-2MALAYTA MINISTRANSIANA NO



**Alwynn Javier** Head of Humanitarian Affairs ACT Alliance, Geneva

